2013 Five-Year Transmission Plan Study Scope and Process

· RPG Comments/Questions
1. ERCOT should adopt the 95% loading limit for justifying projects, per the recommendation that is coming out of OPSTF to ROS in the near future.

2. ERCOT runs the studies on every other year.  For this plan, that will be 2014, 2016, and 2018.  We are asking that the TSPs identify which projects actually need to be moved from 2018 to 2017 and from 2016 to 2015; and include this information in the final report.

3. The Economic portion of the study currently calls for dynamic line ratings to be used.  We are recommending that dynamic ratings not be a base assumption in these studies.  
4. We are recommending that ERCOT uses the A/S module in their studies.

5. Currently, ERCOT runs a sensitivity with all non-SCR units off in the DFW area.  An additional risk at sites with non-SCR units is the loss of the unit with an SCR, which greatly limits the amount of time that a non-SCR unit(s) can run.  Therefore, we are requesting that ERCOT run P-1 (Plant outage) studies at the non-SCR sites (instead of just G-1 at those sites). 
6. Sections 2.3.1.2 and 2.3.1.3 which propose to increase mothballed gen or decrease load outside study area will mask possible transmission fixes for capacity deficiency in the study area.  I would suggest modeling new transmission additions before artificially increasing gen or decreasing load 

7. Compared to process/method description used for steady state analysis, the stability section (section 3.4) is limited to the consideration of defined SOLs. There is no other description of the method of study for the stability analysis contained within the document. Some concern of how this statement alone will meet the NERC TPL requirements

8. Is the North to Houston Interface limit modeled in the study cases?
9. DC ties may be dispatched to their full capacity in the SSWG base cases because of the ‘Extraordinary Dispatch’ scenario exists in the 2013DSB cases.  Suggest to use the Historic dispatch in 5YTP

10. Our review of the 90th percentile Far West weather zone load from the 2012 Five-year Transmission (5YTP) Plan indicates the forecast is too low.  The 2012 summer peak load for the zone exceeded the forecast in the 2015 case used for the 2012 5YTP.  Comparing the 2012 actual peak load for the West weather zone to the West weather zone 2015 forecast from the 2012 5YTP indicates the full impact of the Sharyland load transfer may not be captured since Sharyland is now projecting their transferred load being closer to 300 MW instead of the 100 MW originally projected.

11. Why is W_N limit omitted from the process?

12. Is the 90th percentile weather zone load coincident with an ERCOT 90th percentile system peak load or is it a non-coincidental weather zone peak?

13. Will all combined cycle units be treated as a single unit?

14. Why is N-1-1 and NERC Category C and D analysis not being performed? Isn’t this required per. NERC Standards 

15. TPs ran into problems getting the cases that were converted into PSSE saved cases from Powerworld to solve. Can you ensure posted PSSE cases solve? There was also differences in loading on elements between the two software, which would result in TPs inability to simulate overloads. Is there any way of getting around that?

16. 2012 Scope used IROLs? Why the change?  Will the SOLs be shared with the TPs? 

17. Will actual congestion be used to compare the study results to real life congestion?

